

Name: Abubakar Aisha Abbas

Matric No: 19/mhsp1/011

Dept: MBBS

College: mms

Integrate the following functions

$$a) \int \sin^4 x dx$$

$$= \sin 6x = (\sin^2 x)^2 (\sin^2 x)$$

$$\text{Recall that: } \sin^2 x = \frac{1}{2}(1 - \cos 2x)$$

$$= \left( \frac{1 - \cos 2x}{2} \right)^2 \left( \frac{1 - \cos 2x}{2} \right)$$

$$= \frac{1}{8} \int (1 - \cos 2x)^2 \cdot (1 - \cos 2x)$$

$$= \frac{1}{8} \int (1 - 2\cos 2x + \cos^2 2x) \cdot (1 - \cos 2x)$$

$$= \frac{1}{8} \int \left( 1 - 2\cos 2x + \left( \frac{1 + \cos 2(2x)}{2} \right) \right) \cdot (1 - \cos 2x) \quad (2)$$

$$= \frac{1}{8} \int (1 - 2\cos 2x + 1 + \cos 4x) \cdot (1 - \cos 2x)$$

$$= \frac{1}{16} \int (2 - 4\cos 2x + 1 + \cos 4x) (1 - \cos 2x)$$

$$= \frac{1}{16} \int (3 - 4\cos 2x + \cos 4x) (1 - \cos 2x)$$

$$= \frac{1}{16} \int (3 - 4\cos 2x + \cos 4x - 3\cos 2x + 4\cos^2 2x - \cos 4x \cos 2x)$$

$$= \frac{1}{16} \int (3 - 2(\cos 2x + \cos 4x) + (2-2)\cos^2 2x) - \frac{1}{2} (2\cos 4x \cos 2x)$$

$$= \frac{1}{16} \int (3 - 2\cos 2x + 2\cos 4x + 2(1 + \cos 4x) - \frac{1}{2} (2\cos 6x + 2\cos 2x))$$

$$= \frac{1}{32} \int (6 - 14\cos 2x + 2\cos 4x + 4 + 4\cos 4x - \cos 6x - \cos 2x)$$

$$= \frac{1}{32} \int (10 - 14\cos 2x + 2\cos 4x + 4\cos^2 + 4\cos 4x - \cos 6x - \cos 2x)$$

$$= \frac{1}{32} \int (10 - 15\cos 2x + 6\cos 4x - \cos 6x) dx$$

$$= \frac{1}{32} \int \left[ 10x - \frac{15\sin 2x}{2} + \frac{6\sin 4x}{4} - \frac{\sin 6x}{6} \right] + C$$

$$= \frac{1}{32} \left[ 10x - \frac{15\sin 2x}{2} + \frac{3\sin 4x}{2} - \frac{\sin 6x}{6} \right] + C$$

$$\int \sin^4 x dx$$

$$= \frac{1}{32} \left[ 10x - \frac{15\sin 2x}{2} + \frac{3\sin 4x}{2} + \frac{\sin 6x}{6} \right] + C$$

$$\int \cos^4 x \sin^3 x dx$$

$$\Rightarrow \int \cos^4 x - \sin^2 x \cdot \sin x dx$$

Recall that,  $\sin^2 x = \frac{1}{2}(1 - \cos 2x)$

$$\Rightarrow \int \cos^4 x - \frac{1}{2}(1 - \cos 2x) \cdot \sin x dx$$

Let  $u = \cos x$

$$\frac{du}{dx} = -\sin x \Rightarrow du = -\sin x dx$$

$$\Rightarrow -du = \sin x dx$$

$$\Rightarrow 2u^2 - 1 = \cos 2x$$

$$\Rightarrow \frac{1}{2} \int u^4 \cdot (1 - (2u^2 - 1)) du$$

$$= \frac{1}{2} \int u^4 - (2-2u^2) du$$

$$= \frac{1}{2} \int u^4 - 2 + 2u^2 du$$

$$= \int u^4 (1-u^2) du = \int \cos^4 x \sin^2 x dx = \frac{1}{7} \cos^7 x - \frac{1}{5} \cos^5 x + C$$

$$= \int \frac{u^5}{5} - \frac{u^3}{3} + C = -\frac{1}{5} \cos^5 x + \frac{1}{3} \cos^3 x + C$$

$$= \frac{1}{3} \cos^3 x - \frac{1}{5} \cos^5 x + C$$

$$\textcircled{3} \int \cos x \sin^3 x dx$$

$$u = \sin x$$

$$\frac{du}{dx} = \cos x$$

$$\Rightarrow du = \cos x dx$$

$$\int u^3 du$$

$$\Rightarrow \frac{u^4 + 1}{4} + C$$

$$\Rightarrow \frac{u^4}{4} + C$$

$$= \sin^4 x + C$$

$$= \int \cos x \sin^3 x dx = \frac{\sin^4 x}{4} + C$$

$$= \frac{1}{2} \int u^4 - (2-2u^2) du$$

$$= \frac{1}{2} \int u^4 - 2 + 2u^2 du$$

$$= \int u^4 + (1-u^2) du = \int \cos^4 x \sin^3 x dx = \frac{1}{7} \cos^7 x - \frac{1}{5} \cos^5 x + C$$

$$= \int \frac{u^5}{5} - \frac{u^3}{3} + C = -\frac{1}{5} \cos^5 x + \frac{1}{7} \cos^7 x + C$$

$$= \frac{1}{7} \cos^7 x - \frac{1}{5} \cos^5 x + C$$

$$\textcircled{3} \int \cos x \sin^3 x dx$$

$$u = \sin x$$

$$\frac{du}{dx} = \cos x$$

$$\Rightarrow du = \cos x dx$$

$$\int u^3 du$$

$$\Rightarrow \frac{u^{3+1}}{3+1} + C$$

$$\Rightarrow \frac{u^4}{4} + C$$

$$= \sin^4 x + C$$

$$= \int \cos x \sin^3 x dx = \frac{\sin^4 x}{4} + C$$